Qty

2 pcs
1 pc
2 pcs

Description
Bottom Headboard
Upper Headboard
Opening Headboard
Side Rail
Long Guard Rail

Center Rail

Part List
Item
1
2
3
4
5
7




Assembly Instruction

Hardware List :

| ltem | Description

"U" Bracket
JCBC M6 x 30

Allen key M4

CSK screw M4 x 25

Metal Pin

JCBB M8 x 25
Allen key M5

CSK screw M4 x 16

"L" Bracket
Wood Cap

DO NOT ricHTEN screws

BEFORE ALL PARTS ARE FULLY ASSEMBLED !

Bottom Bunk




Upper Bunk

Side Panel

This hole not use for screw

0.0625"
1y

ok

The right position of bracket is slightly

This two pre hole is to inside from end of Guard Rail
screw L Bracket use

\8 P Bottom Bunk
G

i1

9

7

3

Install the center support
(Part @ ) fisrt before screw
the slat roll .

Page 2/3







